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L'analyse des infiniment petits

L'Hopita

60. Sotr une poulie 7 qu pend Lbrement an bont

dune corde CF g&h&c oo C,avel v plombﬁfnﬁ.
pendn par fa corde DFB qu pafle au deflus de 1a poulse
F, & qui eft attachce en B, en forve que les poiats €, 3
font firus dans 12 méme higoe honzoncle €3 Op fups
poleque fa poulie & les cnj: n'ayent auncune pefantenry
&on demande en quel endroit le plomb D ou da poulie
F doir Sarrrer.




Let F be a pulley, hanging freely at the end of a lope CF which is fastened
at C, and let D be a weight. D is hanging at the end of the rope DFB,
which passes behind the pulley F and is suspended at B such that the
points C and B are on the same horizontal line. One supposes that the
pulley and the ropes do not have mass; & one asks at what place the

weight D or pulley F will be.
Jan A. van Mannen (1991),L'Hopital's Weight Problem,
For the Learning Mathmatics, Vol.11,No2

Pulley: fasten: horizontal:







Clefl-ponrquoy nom-
mant les données CF, 4; DFB, #,CB,¢, & 1§ncmmﬁa

CE, x,Yon aura EF == y EB === »

& DFE== qu doxt &re

un plus grand, & parcant fa diffcrence

==g, dot. lon tuire o =z, 8
G 3

divifant par x— , 1l vient =, dont

Fune des raanes fournit pour CE une valeur telle que la
endiculaire ED pafle par la poulie F & le plomb D
quils font en repos

CF=a DFB b CB=c CE=x EF=
FB= DEF DFE




On pourroit encore réfoudre cette queftion d une zu~
tre manicre que VoIcy.
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